dt change

e Chamber radius : 290 - 250 mm
 Not much change
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e+- TOF distribution

Thresholds = 0.3 MeV
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e fraction of over 100 ns e+- hits events ~ 14%



e+-

* Fill histogram ( hit time >100ns ) e+-

Thresholds = 0.3 MeV
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Electron

* Fill histogram ( hit time >100ns ) e- events

ratio

Thresholds = 0.3 MeV MPID . DepositE
_ — pi+- E ) __
107" — neutrons 40 800
1072 gammas C s
0 — e+ sk 3 600
107 r N i
10°* 20l g 400}
-5 i
10 of 200}
10—6 Lo ’LI.‘MHM“’JL “ Ly C | | ;glg‘ | : [ R RN NS T R S T TN S NN O T 1
0 50 100 150 200 mu gamma e others 00 20 40 60 80 100
TOF[ns]
InitialMomentum InitialVolume
[ 0.006F
300( i
i 0.004-
200} I
100] 0.0021
ol e
80 100 a”?roﬂ%eof%&ag"’a%gﬁrqo et PtSigy "Orly Mherg



Positron

* Fill histogram ( hit time >100ns ) e+ events
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From mu & not from mu events

* Average hit time of e+e- whose mother particles are mu
=(pion flight+muon flight+muon decay+ e+- hits) ~ 2.3 us

 Muon decay time ~ 2.2 us, 100ns of other process seems to be
a cause of an excess.
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